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s e | BRAKR | BER | G
1 BRE () +@2)+3) 340,668 1,049,522 1,386,943 of 2777133
(1) gxIEE [(7)~(2)] 335,823 824,699 1,293,603 0 2,454,125
(7) #aKINZE 335,823 824,699 1,293,603 0 2,454,125
(NZEIERE 0 0 0 0 0
(D) ZDhEEINE 0 0 0 0 0
(2) BEMNRE (F7)~(T)] 4,845 224,823 93,340 0 323,008
(7)ZBRABRUVELSS 1,632 9,475 1,930 0 13,037
(NEE(R)#BE 0 0 0 0 0
() th&EHEE 912 6,655 23,451 0 31,018
(D) REPAIZERA 1,710 165,177 67,607 0 234,494
() F A ds 591 43516 352 0 44,459
(3) %FRIFIAE 0 0 0 0 0
2 BEAO)+(2)+(3) 215,746 733,401 1,040,992 0 1,990,139
(1) BEXEAH ()~ 200,371 665,621 1,009,619 0 1,875,611
8 (7)RKE 33,492 5,398 482,980 0 521,870
£ (1) %5KE 0 141,526 0 0 141,526
&t () EEKE 4941 0 0 0 4941
g (D) #EKE 0 0 0 0 0
= (HZREIEE 0 0 0 0 0
(MEBE 0 0 0 0 0
(P RRE 89,568 32,072 0 0 121,640
(©) BUm{ENE 71,510 470,144 519,431 0 1,061,085
() BEERZEE 860 16,481 7,208 0 24,549
Q) ZDMEXER 0 0 0 0 0
(2) BENER [(T)~EFH)] 15,375 67,780 31,373 0 114,528
() EEREFR 15,309 32,056 31,194 0 78,559
(NZDOMEALFIR 0 0 0 0 0
(D) EEERIREE 0 0 0 0 0
(D) RREHEER 0 0 0 0 0
() zDtEENER 66 35,724 179 0 35,969
(3) %FRliE% 0 0 0 0 0
3 LEEMAIEN —2] 124,922 316,121 345,951 0 786,994
4 BEEfEAR0 —2] 0 0 0 0 0
M BEEL(T)~(H)] 0 0 479,000 0 479,000
(7) A& 0 0 479,000 0 479,000
(1) BEE 0 0 0 0 0
(2)NTTERFFEME 0 0 0 0 0
1 (T)Z D1k 0 0 0 0 0
& (F) & #utE 0 0 0 0 0
x (2)hEEtHESHIE 0 141,064 0 5,064 146,128
i () fh=EtEAS 0 0 0 0 0
7| (4)EE(R) wHhe 0 0 0 0 0
N (5)TEHES 0 0 0 0 0
i (6) Z D1 163 0 0 0 163
IR (7)&t [(1)~(6)] (A) 163 141,064 479,000 5,064 625,291
% (8)SHLBEEANRYMSN S DBIREFE 2158 (B) 0 0 0 0 0
() RIFEEHABETSTEERAS (C) 0 0 0 0 0
(10) #tiEt (A-{(B)*+C)}= (D) 163 141,064 479,000 5,064 625,291
2 |(DFF-LEEEE 0 0 0 4,847 4847
& (2)HBREEE 169,226 419,639 1,297,001 0 1,885,866
KIS EEEES 35,210 503,945 80,379 618 620,152
B (M)t EREASRES 0 0 0 0 0
X |(B) F Dt 2,269 0 13,717 0 15,986
H[(6)5t ((1)~(5)] () 206,705 923,584 1,391,097 5,465 2,526,851
3 EXRMIRAZBEN EARMZHEEICET BT HE(E)-(D)=(F) 206,542 782,520 912,097 401 1,901,560
1 AHBE [((1)+(2)] 67,614 81,597 148,658 0 297,869
(WEEBAHE 55,635 60,867 87,190 0 203,692
(2)EEAHE 11,979 20,730 61,468 0 94,177
2 BHhE 14,171 17,804 27,878 0 59,853
3 B#EE 3,793 51 78,021 0 81,865
Z(4 ERE 1,618 6,431 25,135 0 33,184
A5 XIFE 15,309 32,056 31,194 0 78,559
&6 BmEIE 71,510 470,144 519,431 0 1,061,085
|7 ZKE 0 0 0 0 0

8 FHEH 0 63,673 0 0
9 Z0ith 41,731 61,645 210,675 0 314,051
10 & (1~9] 215,746 733,401 1,040,992 0 1,990,139
11 REIEE 0 0 0 0 0
12 &5 (10+11) 215,746 733,401 1,040,992 0 1,990,139
BEHN) 9 16 16 0 41
B ERERE (AN 8 16 13 0 37
FRAIVKE (Fm3) 6,769 13,873 29,125 0 49,767
#R7K IR (F/m3) 31.87 52.87 35.74 - 39.99
FRKERE (F/m3) XEHAZERAE LB ERLIIGE 31.62 40.96 33.42 - 35.28
A BT (F/m3) 49.61 59.45 44.42 - 49.31




